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S W™ 24 56 80 33 59 92 A9 A3 A 12
-= 10 13 23 12 14 26 A2 A A3
B At 34 69 103 45 73 118 A1 A4 A 15
= 1 2 3 2 3 5 Al A A2
aEE 1 2 3 2 3 5 Al A A2

HEEL 2 4 6 1 3 4 1 1 2

X |& 28 BT 0 7 7 0 7 7 0 0 0
J\ B8 HT 7 7 14 6 5 11 1 2 3
J\BEEREL 9 18 27 7 15 22 2 3 5
= FHT 5 4 9 5 4 9 0 0 0
FRIRARET 5 4 9 5 4 9 0 0 0
F—RXEt 49 93 142 59 95 154 A 10 A2 A 12
KFm 23 47 70 24 42 66 Al 5 4
REM 1 9 10 3 9 12 A2 0 A2
B At 24 56 80 27 51 78 A3 5 2
T 5 5 10 5 5 10 0 0 0
2 ET 1 11 22 12 9 21 Al 2 1
it 5 ET 2 4 6 4 6 10 A2 A2 A4
FRIRARET 18 20 38 21 20 41 A3 0 A3
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=EaSHIEy 4 4 5 9 0 A A1
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